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o= 22~ P/(e)(a — 1) = {F(0)}? (a — o)
a— w3 ~ F(c)(a—z2) = {F'()}" (a — o) (1.10)

o —@pi1 ~ F'(O)(a —ax) = {F'(0)}" (a - 20)

%%, LEDNSTIF (| <17%5100RT 5.




1.1 K # & 15

(RAEEDT IV LY
© FIHE 2o 28I D 5.
@ yo = Flzy) ZEHET 3.
@ |zg—yol <& (e NEHEFH) DLEGA.
@ zy=1yy & LT@\.
® WG 2o & HITT 5.

BIRE 1-2 e — 5sinz + 1.36z = 0 &2 KIEEZ W TR

EXZXAD I LT > T, e ZXRDE S ICEFET 5.
r =e€" —5sinx + 2.36x
L7eii->T
F(z) =e” — 5sinx + 2.36x
L%, pleLT
z0=1
e = 0.00001
DEE 21 MOKET
r = 0.4535

RIS KO FidoplEzwd Ta s o LRI RO a5 L 1.11KRT.

7077411 REZE
Option Explicit

Private Sub CMD_Calculation ClickQ
Dim X0 As Double
Dim X1 As Double
Dim epsl As Double

X0 = Range("_X0")
epsl = 0.000001
X1 = Exp(X0) - 5# % Sin(X0) + 2.36 * X0
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End

Do Until (Abs(X1 - X0) < epsl)

X0 = X1

X1 = Exp(X0) - 5# % Sin(X0) + 2.36 * X0
Loop

Range("_X1") = X1
Sub
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c=0
c =05
c = 0.75

¢ = 0.875

c = 0.82415771

c = 0.82413229
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¢ = 0.00000000
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0Option Explicit

Private Sub CMD_Calculation_Click(Q)
Dim A As Double
Dim B As Double
Dim KTYPE As Integer
Dim MSG As String
Dim I As Integer
Dim X1 As Double

A = Range("_A")
B = Range("_B")
KTYPE = Range("_KTYPE")

Call Calculation(A, B, KTYPE, MSG, I, X1)

Range ("_MSG") = MSG

Range("_I") =1

Range("_X1") = X1
End Sub

Sub Calculation(A As Double, _
B As Double, _
KTYPE As Integer, _
ByRef MSG As String, _
ByRef I As Integer, _
ByRef X1 As Double)

Dim EPS As Double

EPS = 0.0000001
For T =1 To 50
Select Case KTYPE
Case 1: X1 = (A +B) / 2#
Case 2: X1 A% F(B) - B * F(A) / (F(B) - F(A)
End Select

~

If (F(X1) * F(B) < 0) Then
If (Abs(A - X1) < EPS) Then Exit For
A =Xl

Else
If (Abs(A - X1) < EPS) Then Exit For
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B = X1
End If
Next I
If T =50 Then
MSG = "UGRUEEA, "
I1=0
X1 =0
Else
MSG = "UYERUE UL "
End If
End Sub
Function F(X As Double) As Double
F=0osX -X*X
End Function
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